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Solve word equations by guessing a bound for each variable.

easily solvable by using the filling the positions method.
... but finding these bounds is especially hard for balanced equations.
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bYZbaXa =̇ XZbaabY
with bounds bX = bY = bZ = 2.
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Build an automaton which mimics this behavior.
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aZXb =̇ aXaY
with bounds bX = bY = bZ = 1.
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� Bound refinement to lower encoding complexity
� Search guiding by using Reduced Ordered Multi-Decision Diagrams (MDD)
� Linear length constraints by using MDDs
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u = aZXb =̇ aXaY = v
with bounds bX = bY = bZ = 2.

Build a Diophantine equation as follows:

0 · IX − 1 · IY + 1 · IZ = 0

Gives the count of a’s in u.

IM are positive integer variables ranging within { 0, . . . , bM }.
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